EARAROBREBRT —5 XN—ZXBISH—F

202348268 (K) 1@PI5I3H

EN 7L w1 Ch (PREBE)

YS5R2iEHE

\(9&1&1 = ‘I%EH?’JFQ] | & 10m w8

[AE%] 1 7%&:2,500,000 § ~ 237 :700,000 @  37&:525,000 "  435:350,000 ™  53&:175,000 &

RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
2AF4—=ILRI T L) %*ggﬂﬂ 1:06.4 1-1 371 - 1 454 @g%@ [tsms)
: (=) ) | B
RRVIRAFA v IIFUF— IR T— O me e
S~ \EHES 1:08.2 7-6 38.4| — 3 480 |MBHE duise)
D—JURIVINAT ' 283 _
0 ©) _y | Ml
R:T—ILRI—Z #:RyRIT«X =) BEZI v
RFIVRZ 32 ﬁ%&:zt (1:08.5) 6-3 8.7 — 2 460 ;I_HIEPEE (tEE)
. 11/2 ) | NEE
RRFPYVISvO BRIAETVAH ) w@E s
AFUVINS it 2 ﬁﬁ%: 1:(1(;.1 2-3 45| - 6 | 412 %g*@aﬂ (dLsmiE)
. 8 _ IIER
RVENIF— BFUIIIUR SR rvieni
NFIVIA 42 5%5%2*4 1:10.5 4-2 4.9 - 7 454 EJE%% (Aims)
: (2 _
RIZVFVEI )T BSIRUYY O T
. B2 | ERERESE 1:12.6 4-6 09| - 4 | a6 |HFE dumE)
6!5|5| TAYVROR 54.0 (941) _y | FHEE
RANIUFv—K BI-YYTSIVa ) mk wm—
707217 | T4V ba g H o2 | et 1:(13).2 88 |[43.0] - | 8 | 42 %m%ﬁu (im8)
. 3) _ i =
R:I—-yVhw?y BI-yrFrOF— =) %ME 3k
~ st 2 | BIEREE 1:13.4 2-3 438 — 5 480 |N\EET dumE)
gl1/1|YyF—L—Y 54.0 ) _) |
AN yE— B I-LVH—b T
@ 11— —BBIEfI
13—7+—
20—7F—
30—7— 2,(1,4),(5.,8),3,6,7
43—F— 2,8,(1,3,4), (5,6),7
o ILRE
B B 2 1804 JA R 2-6 310M B E 2-6 1,220 3EE 2-3-6 590M4
7B B 2 110 2-3 140M =51 2-6 1,860 3EH 2-6-3 3,600
6 160 3-6 330
3 1004

ABIC OV TRUTEREERRODDZE. THRIIZEL.




